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初一上学期期终专项训练（一）

有理数运算

1、乘方：

（1）直接写答案：
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（2）计算：①
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2、去括号：

（1）去括号：

①
[image: image13.wmf](

)

1

-

-

b

a

=            ②
[image: image14.wmf](

)

1

-

+

b

a

=         ③
[image: image15.wmf](

)

1

+

-

-

b

a

=       ④
[image: image16.wmf](

)

1

-

-

+

b

a

=

⑤
[image: image17.wmf]÷

ø

ö

ç

è

æ

-

3

2

6

y

x

=         ⑥
[image: image18.wmf](

)

y

x

-

-

5

=          ⑦
[image: image19.wmf](

)

y

x

2

3

6

+

-

=       ⑧
[image: image20.wmf](

)

y

x

+

-

2

5

=

（2）添括号后整理：
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3、混合运算：

（1）
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（2）计算：
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（3）计算：
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补充训练：

1、已知
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，用含x的一次式表示y=______________。
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4、
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5、解方程
[image: image36.wmf]8

|

2

|

=

x

           6、
[image: image37.wmf]5

|

4

2

|

=

-

x

             7、
[image: image38.wmf]2

|

3

1

4

|

=

-

x

   

8、
[image: image39.wmf]|

|

3

2

|

|

8

x

x

+

=

-

    9、
[image: image40.wmf]|

2

|

3

6

|

2

|

2

3

-

-

=

-

+

x

x

    10、
[image: image41.wmf]2

|

6

3

|

5

|

4

2

|

+

-

=

+

-

x

x


11、说出下列式子的读法：
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12、先化简后求值：

（1）
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，其中
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（2）先化简，再求值：
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